
Fill in the Blanks Composite Functions 
 

 

𝒇(𝒙) 𝒈(𝒙) 𝒇𝒈(𝒙) 𝒈𝒇(𝒙) 

𝑓(𝑥) = 𝑥 − 3 𝑔(𝑥) = 𝑥2 𝑓𝑔(𝑥) = 𝑥2 − 3 𝑔𝑓(𝑥) = (𝑥 − 3)2 

𝑓(𝑥) =
𝑥

5
 𝑔(𝑥) = 𝑥 + 1   

𝑓(𝑥) = 3𝑥 𝑔(𝑥) = 7 − 𝑥   

𝑓(𝑥) = √𝑥 𝑔(𝑥) =
𝑥

4
   

𝑓(𝑥) = 2𝑥 + 9 𝑔(𝑥) = 𝑥 − 3 𝑓𝑔(𝑥) = 2𝑥 + 3  

𝑓(𝑥) = 𝑥2 − 1 𝑔(𝑥) =
𝑥

3
   

𝑓(𝑥) = √𝑥 𝑔(𝑥) = 4 − 3𝑥   

𝑓(𝑥) =
2𝑥

5
 𝑔(𝑥) = 𝑥2  𝑔𝑓(𝑥) =

4𝑥2

25
 

𝑓(𝑥) =
1

𝑥
 𝑔(𝑥) = 2𝑥 − 3   

𝑓(𝑥) = 9 − 𝑥 𝑔(𝑥) = √2𝑥   

𝑓(𝑥) = 3𝑥 − 1 𝑔(𝑥) =
2

𝑥 + 1
   

 𝑔(𝑥) = 𝑥 − 3 𝑓𝑔(𝑥) =
𝑥 − 3

10
  

𝑓(𝑥) = 2𝑥 + 1  𝑓𝑔(𝑥) = 2𝑥3 + 1  

  𝑓𝑔(𝑥) =
1

𝑥2 + 2
 𝑔𝑓(𝑥) =

1

𝑥2
+ 2 

 


